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SIZE
	8	 10	 12	 14	 16	 18	 20	 22	 24	 26
To fit bust	
	81	86	 91	 97	 102	107	 112	117	122	127	cm 
	32	34	 36	 38	 40	 42	 44	 46	 48	 50	 in

YARN
Rowan Finest
	5	 5	 5	 6	 6	 7	 7	 8	 8	 9	 x 50gm
(photographed in French Beret 004)

NEEDLES
1 pair 3¼mm (no 10) (US 3) needles

TENSION 
28 sts and 36 rows to 10 cm measured over st st, 
34 sts and 36 rows to 10 cm measured over patt, 
both using 3¼mm (US 3) needles. 

BACK 
Using 3¼mm (US 3) needles cast on 115 [121: 127:
135: 143: 155: 159: 169: 173: 183] sts.
Row 1 (RS): K0 [0: 0: 1: 2: 2: 1: 0: 2: 1], P1, *K2, 
P1, rep from * to last 0 [0: 0: 1: 2: 2: 1: 0: 2: 1] sts,
K0 [0: 0: 1: 2: 2: 1: 0: 2: 1].
Row 2: P0 [0: 0: 1: 2: 2: 1: 0: 2: 1], K1, *P2, K1, rep 
from * to last 0 [0: 0: 1: 2: 2: 1: 0: 2: 1] sts,
P0 [0: 0: 1: 2: 2: 1: 0: 2: 1].
These 2 rows form rib.
Work in rib for a further 16 rows, ending with RS 
facing for next row.
Beg with a K row, now cont in st st throughout 
as folls:
Cont straight until back meas 6 [6: 6: 7: 7: 9: 9:
11: 9: 11] cm, ending with RS facing for next row.
Counting in from both ends of last row, place 
markers on 38th [40th: 42nd: 45th: 47th: 51st: 
53rd: 56th: 57th: 61st] sts in from both ends of row.
Now shape waist darts as folls:
Next row (RS): K to within 2 sts of first marked 
st, sl 1, K1, psso, K marked st, K to next marked st, 
K marked st, K2tog, K to end.
Work 5 rows, ending with RS facing for next row.
Rep last 6 rows 3 times more, then first of these 
rows (the dec row) again. 
105 [111: 117: 125: 133: 145: 149: 159: 163: 173] sts.
Work 13 rows, ending with RS facing for next row.
Next row (RS): K to first marked st, M1, K 
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